L iﬁ w ﬂ /4 F‘D ix‘: ﬁi—;

RESHE 1.0k

Vision®ZF ik
Q-Line 101

1 /= miiid

1.1 ¥
« DN32-DN300/1%-12 "

1.2 &5
SCH10, SCHAOTIARNE, F T HAth b it 5 B I 88, il %
R .

1.3 RKTEEA

« & F 4 %2.5Mpa(25bar)

o TAER IR T &M, B A %

1.4 ThEE
o EFRVAREEE, BB, VAR £ GB5135. 11K A KL AWWA C606
o PROLBRTEERE, AR, U AR

2 iANE
3 BHMER

3.1 ShEE: ERABAGEH 2 GB/T 1348, JH'5-QT450-12

3.2 RERE (WiEiLs)
O ARt IR S
o e

3.3 HHE:
« EPDM (=JCLW) = EHTAK #uk. 85I T e, EHREZ-40CE125°C
c B EE MG, T iR

3.4 124

o RN E R A, R
. GB/T3098.1, 9.8%

3.5 1259

o RN SR ARRE, HAEAE
« GB/T3098.2, 8%

VISION M1 YN | X | 021-5954-6666 |



L iﬁ Y/ Yy
DS-1003
BESiEb 1.0kR
- - ® >
Vision <
-
Q-Line 101
4 1EgE
4.1 SCH10FSCHA0NE
KR SERRIME uL FM HBFIAIE
mm mm Sch.10 Sch.40 Sch.10 Sch.40 -
psi psi psi psi
Inches Inches kPa kPa kPa kPa MPa
bar bar bar bar
32 42.40 300 300 300 300 25
2067 2067 2067 2067
1% 1.660 20.7 20.7 20.7 20.7 25
40 48.30 300 300 300 300 25
2067 2067 2067 2067
1% 1.900 20.7 20.7 20.7 20.7 25
50 60.30 300 300 300 300 25
2067 2067 2067 2067
2 2375 20.7 20.7 20.7 20.7 25
65 76.10[1] 300 300 300 300 25
2067 2067 2067 2067
30D 3.000 20.7 20.7 20.7 20.7 2.5
80 88.9 300 300 300 300 25
2067 2067 2067 2067
3 35 20.7 20.7 20.7 20.7 25
100 108 .00[4] 300 300 300 300 25
2067 2067 2067 2067
4%0D 4.250 20.7 20.7 20.7 20.7 25
100 114.3 300 300 300 300 25
2067 2067 2067 2067
o 4.500 20.7 20.7 20.7 20.7 2.5
125 133.000 300 300 300 300 25
2067 2067 2067 2067
5%0D 5.250 20.7 20.7 20.7 20.7 25
125 139.70 [1] 300 300 300 300 25
2067 2067 2067 2067
5%0D 5500 20.7 20.7 20.7 20.7 2.5
150 159.00[4] 300 300 300 300 25
2067 2067 2067 2067
6%0D 6.250 20.7 20.7 20.7 20.7 25
150 165.10 300 300 300 300 25
2067 2067 2067 2067
6%0D 6.500 20.7 20.7 20.7 20.7 25
150 168.30 300 300 300 300 25
2067 2067 2067 2067
6 6.625 20.7 20.7 20.7 20.7 25
200 219.10 [3] 300 300 300 300 25
2067 2067 2067 2067
8 8.625 20.7 20.7 20.7 20.7 oi5
250 273.00 300 300 300 300 25
2067 2067 2067 2067
10 10.75 20.7 20.7 20.7 20.7 25
300 323.90 300 300 300 300 9i5
2067 2067 2067 2067
12 12.75 20.7 20.7 20.7 20.7 25

10°5 8 J% 4057 JENFPA13

o [1] GB/T 30914M%, [2]JIS G345244%, [3]0.188 "BEEHNE, [4] GB/T2183540%

M)

VISION _LSEBNMEREFRAR | L

2

ETAXE=£E%2215 | 021-5954-6666 | www.visioninc.cn | 1S509001:2008 R & 14 R IAIE



L iﬁ w ﬁ Y/ F; u:u f)g

RESiHb 1.0h%

Vision®FE1$1Ek
Q-Line 101

DR Mz | TFEND | EiR EiREE X Y z aL IEHEIAR EESS
mm mm MPa N mm mm mm mm mm mm kg
32 42.4 3.45 4871 0-2.24 64 111 45 15 M10x50 0.6
40 48.3 3.45 6321 0-2.24 70 117 45 15 M10x50 0.7
50 60.3 2.5 7139 0-2.64 87 131 47 15 M10x50 0.8
65 76.1 2.5 11371 0-2.94 104 153 49 15 M10x55 1.1
80 88.9 2.5 15518 0-3.14 118 165 49 15 M10x55 il72
100 108.0 2.5 22902 0-3.54 142 197 53 23 M12x75 1.8
100 114.3 2.5 25652 0-3.74 147 201 53 23 M12x75 1.9
125 133.0 2.5 34732 0-4.04 168 236 51 32 M16x90 2.3
125 113917 2.5 38319 0-4.04 174 241 53 32 M16x90 285
150 159.0 2.5 49639 0-4.74 201 267 53 32 M16x90 2.8
150 165.1 215 53520 0-4.74 205 271 53 32 M16x90 2.9
150 168.3 2.5 55615 0-4.74 205 286 53 32 M16x90 3.1
200 219,17 2.5 94256 0-4.90 263 341 63 36 M20x100 5.4
250 273.0 2.5 146336 0-4.90 319 402 63 36 M20x120 7.5
300 323.9 2.5 205991 0-4.90 370 455 64 36 M20x120 11.9

1. LRSI TARE I AR TR T, ok TARRE T 5025 AR AR B br vt Rt _LAT H 1) PSR A a8 s (R . B3N8 FE S T 38 2 1 s 511
KRR, (HBRHE QLA — K.

2. 101 BN et sk, ATAMEE GRS 4. B8 RGNS 4 IR

3. S RHUAE T I 101HB 101CLAY Stk a3k, HF BRI UG28 Btk R M 43k

©

VISION _ESEEMEREGERAR | L

%2215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 & £ {4 R IAIE



	101型资料-20221111_画板 1
	101型资料-20221111-02
	101型资料-20221111-03

